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Section A

Questions 1 to 2 cany 1 mark each.

Questions 3 to 5 carry 2 marks each.

For each question, four options are given. One of them is the correct answer. Make
your choice and write its number (1, 2, 3 or 4) in the brackets provided. (8 marks)

1. In 1568, which digit is in the hundreds plaoe'é
1) 1
2) 5
3) 6
4) 8

2. Find the sum of 5746 and 364.

1) 5000
2) 5110
3) 6000
4) 6110
( )
3. 9 000 + 500 + § has the same value as
1) 9055
2) 9505
3) 9550
4) 9555
( )
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Which of the following is five thousand and thiteen?

R
2)
3
4)

Add 65 hundreds to 3 tens.

H
2)
3)
4)

5013
5030
5103
5130

6503
6530
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Section B

Questions 6 to 7 carry 1 mark each. Questions 8 010 carry 2 marks each. Show
your working clearly and write your answers in the hoxes provided. For questions
which require units, give your answers in the units stated. (8 marks)

6. What is the missing number in the number pattern?

6435 , 6425 , . 6405 , 6395

7 What is the missing digit in the box?

3624
+ 1?74 5

99569
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8.

10.

Use the digits 0, 1, 5 and 6 to form the smallest 4-digit odd number?

Read the clues to find a 3-digit number.

The digit in the ones place is 3.

The digit in the tens place is 1 more than the digitin the ones place.
The value of the digit in the hundreds place is 700.

What number am 1?

Mr Thomas bought a computer and a camera. How much did he spend?

Cost
A computer $2099
A camera 31745
$
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Section C

Questions 11 to 13 cary 3 marks each. For each question, show your working
clearty as marks will be given for working and relevant statements.

(9 marks)

11. Look at the numbers below.

6212 , 6012 , 6320 , 6020

(a) Circle the smallest number and underiine the greatest number.
(b) Write the smallest number in words.

12. Look at the number line. Fill in the missing number in the boxes.

(a) (b)

6600 l 6700 , ’18800
SENESEEENENEERER
ERE 1 i

s
N i

|
! I O

(c) What is 100 more than 68007?
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13:

Shun Li and Ravi saved some stickers. Shun Li saved $2396. Ravi
saved $756 more than Shun Li.

(@ How much money did Ravi save?
(b) How much money did both of them save?

End of Paper
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Section A

Questions 1 1o 2 carry 1 mark each.

Questions 3 to 5 carry 2 marks each.

For each question, four options are given. One of them is the correct answer. Make
your choice and write its number (1, 2, 3 or 4) in the brackets provided. (8 marks)

T Subiract 45 hundreds from 5000.

1) 500
2) 1500
3) 4450
4) 4550
2. Which of the following is 9 x772
1 9+7
2) T+7+T7+T+7+7+7+7+7
3) 9+9+9+9+9384+9+9+9
4) 9x9x9x9x9x9xg

3. What Is 11 less than 86007

1
2)
3)
4)

8511
8589

8591 -

8589
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The difference between two numbers is 955, The bigger number is 3927.
What is the smaller number?

1) 2972
2) 3032
3) 3052
4 3072

YiHui has 6 Chinese story books. She has 8 times as many English books

as Chinese books. How many more English books than Chinese books
does she have?

1) 14
2) 42
3) 48
4) 54
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Section B

Questions 6 to 7 camry 1 mark each. Questions 8 to 10 carry 2 marks each.
Show your working clearly and write your answers in the boxes provided. For
questions which require units, give your answers in the units stated.

(8 marks)

6. What is the difference between 855 and 90457

T Jenny spent $9. Her sister spent 6 times as much as her. How much
money did her sister spend?

8. Mrs Jin bought 7 bags of apples. There were 9 apples in each bag.
She used 24 apples to make apple pies. How many apples were left?
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10.

Find the digits represented by A and B.

4 11A|3
— 1785
2|B|6 8

Study the number pattern below.

What is the missing number in the pattern?

1st 2nd | 3rd | 4th 5th

6th

284 | 275 | 286 | 257 ?

239
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Section C

Questions 11 to 13 carry 3 marks each. For each question, show your working
clearly as marks will be given for working and relevant statements.
(8 marks)

11. Ahmad had some money. He used $1071 to buy a computer and $1243
to buy a television. He had $427 left.
a) How much did he spend on the computer and the television?
b) How much did he have at first?

12. Stephanie had1076 blue beads. She had 276 more blue beads than
red beads. She used 209 beads to make some necklaces.
a) How many red beads did Stephanie have?
b) How many beads had she left?
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13. A farmer had 2405 pears and some oranges. After selling 952 pears,

he still had 450 more pears than oranges. How many oranges did the
farmer have? -

End of Paper
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EXAM PAPER 2017 (P3)
SCHOOL :ACS

SUBJECT : MATHEMATICS

TERM : CA1
Q1 Q2 Q3 Q4 Qs
2 4 2 1 2

6)6415 7)9 8)1065 9)743 10)$4744

11)a) 6212  6012), 6302 , 6020

b)Six thousand and twelve
12)a)6640 b)6780  ¢)6900
13)a)2396 + 756 = 3152
Ravi saved $3152
b)3152 + 2396 = 5548
They both saved $5548
BITE-SIZED ASSESSMENT TWO

Q1 Q2 Q3 Q4 Qs
1 2 2 1 2
6)8190 7)$54 8)39 9)A=5 B=3 10)248
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11)a)1243 + 1071 —-2314
He spend $2314 on the computer and on the television.
b)2314 + 427 = 2741
He had $2741 at first.
12)a)1076 — 276 = 800
Stephanie have 800 red bead:s.
b)1076 + 800 = 1876
1876 — 209 = 1667
She had 1667 beads left.
13)2405 — 952 = 1453
1453 - 450 = 1003

The farmer have 1003 oranges.
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